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QUESTION 1

By default which queuing mechanism is used by the Software Catalog cron task? 

A. Error 

B. Sequential 

C. Continuous 

D. Crazy Eight 

Correct Answer: C 

http://www.xcentricway.ca/tutorials/tutorial02/Maximo%207.1%20Integration%20Framewor
k%20Configuration%20Basics.pdf 

 

QUESTION 2

What is the default item status of a newly created set? 

A. ACTIVE 

B. PENDING 

C. INACTIVE 

D. PLANNING 

Correct Answer: A 

 

QUESTION 3

A deployed asset can be promoted from which two applications? (Choose two) 

A. Assets 

B. Computers 

C. Item Master 

D. Network Device 

E. Deployed Software 

Correct Answer: AD 

 

QUESTION 4
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Which two conditions must be true in order to use a newly created service item? (Choose two) 

A. An item set has been associated. 

B. The service item has been classified. 

C. The service item\\'s status is set to Active. 

D. A commodity group has been associated. 

E. The service item\\'s status is set to Planning. 

Correct Answer: CD 

 

QUESTION 5

If hostname and IP address of an asset discovery solution changed, which IBM Tivoli Integration Composer component
needs to be updated the? 

A. Schema 

B. Mapping 

C. Data Source 

D. Data Destination 

Correct Answer: C 
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